Date

EXHIBIT

Contract Quantity Adjustment/Change Order

TROUBLE COOK TO	446	(
rev, 01/16			
Department:	Utilities And Environmental Service	s	
Project Name:	Kensington Place Asbestos-Cement W	Vaterline Replacement	Date: 3/30/21
City Project ID Number	KENAC		Change Order/Quantity Adjustment No. 1
Vendor	SKE Construction, LLC	PO Box 1111 (Cypress, TX 77410 281-585-410
-0.0	Company Name	·····	ddress Phone No.
Justification We under activ	maked lies home 6 0 10 10 21 22 20 and 25 Tabula hale at 1		
We under esui	mated line items 6, 9, 10, 19, 21, 23, 28, and 35. To help balance this out we su	abtracted the line items that we over estimated.	
CHIMMARY			
SUMMARY Original Contract	• Drings		Amount % Chang
-			\$1,672,874.73
	ty Adjustment(s):		
This Quantity Ac	•		\$73,611.58
Total Quantity A			\$73,611.58
Previous Change	rice with Quantity Adjustment(s):		\$1,746,486.31
•			
This Change 0	order(s) To Date:		40.00
_	• •		\$0.00
Adjusted Contra	act Price [Original Contract Price Plus Quantity Adjustment(s) Plus Change Order(s)]:		\$1,746,486.31
Difference between	een Original and Adjusted Contract Prices:		\$73,611.58
Original Contrac	t Time:		150
Time Adjustmen	nt by previous Quan. Adj./Change Order:		
Tirne Adjustmen	nt by this Quan, Adj./Change Order:		
New Contract TI	lme:/		150
Prepared By:	the DAHA. 21 les hal	Challe & Eharbrut Bussident/C	EO CVE Canada (110 - 1170/1)
7	Signature	Shelly A. Eberhart, President/Cl Printed Name, Title, Company	EO, SKE Construction, LLC 3/30/21 Date
	Hall Show May	Shall of thebrout Ros date	TOSK CONSTRUCTION IV 21201
Contracted	Signature /	Shelly A. Ebrinayt Resont (Printed Name, Title, Company	CO SECONDIDITUE 5/50/2
City Project /		Juan Martine, The, William	Date /
Manager:		Quari martine to th	gineer Associate 4/14/

Printed Name, Title

Mayor/City Manager

Signature





Project Name: Kensington Place Asbestos-Cement Waterline Replacement

Quan. Adj./Change Order No.: 1

Change Order Data

						Contract Time Adjustment
Item #	Item Description	Unit	Qty.	Unit Price	Amount	(Days)
					\$0.00	
	· · · · · · · · · · · · · · · · · · ·	1			\$0.00	
					\$0.00	
					\$0.00	
					\$0.00	
				,	\$0.00	
					\$0.00	
		l			\$0.00	
					\$0.00	
					\$0.00	
					\$0.00	
					\$0.00	
					\$0.00	
					\$0.00	
		ļ			\$0.00	
					\$0.00	
					\$0.00	
					\$0.00	
					\$0.00	
					\$0.00	
					\$0.00	
		ļ			\$0.00	
		 			\$0.00 \$0.00	
					\$0.00	
					\$0.00	
				TOTALS:	\$0.00	



Contract Quantity Adjustment/Change Order

Project Name: Kensington Place Asbestos-Cement Waterline Replacement

Quan. Adj./Change Order No.: 1

Quantity Adjustment Data

	Quantity Adjustment Dat	15		}Kasaasa a	MANAGE SANGE	
Bid Item #	Item Description	Unit	Qty.	Unit Price	Amount	Contract Time Adjustment
	Zetti pesci peoli	22	QLY.	Offic Price	Amount	(Days)
	TRENCH SAFETY SYSTEMS INCLUDING PLAN SIGNED AND SEALED BY REGISTERED					
2	PROFESSIONAL ENGINEER IN TEXAS	LS	-1	\$1,500.00	-\$1,500.00	
4	EROSION CONTROL LOGS FOR CURB INLET PROTECTION, AS PER DETAIL EC-13	LF	-850	\$8.00	-\$6,800.00	
5	FOR DEPTHS OF 5' OR LESS, COORDINATE AND PERFORM LOCATION AND MARKING OF ALL BURIED EXISTING UTILITIES PRIOR TO COMMENCING WORK (EXAMPLE: BURIED CABLES, FIBER OPTICSM GAS LINES, ETC). PERFORM PRE-CHLORINATED PIPE BURSTING OF EXISTING 8" ASBESTOS CEMENT WATER LINE, REPLACE WITH 8" HOPE DR11 WATER LINE, COMPLETE, INCLUDING EXCAVATIONS, BACKFILL, HYDROSTATIC PRESSURE TESTING, POST-BURSTING CLOSED CIRCUIT TV INSPECTION OF ALL SANITARY SEWER LINES AS DESCRIBED IN ATTACHEMENT A OF SECTION 01000 (TECHNICAL SPECIFICATIONS) AND DELIVER TO CITY, REPLACEMENT OR REPAIR OF MAILBOXES, FENCING, LANDSCAPE AND IRRIGATION SYSTEMS WITH REVEGETATION (SOD), SAME VARIETY AS REMOVED	LF	-1350	\$72.50	-\$97,875.00	
	FOR DEPTHS OF 5' OR LESS, COORDINATE AND PERFORM LOCATION AND MARKING OF ALL BURIED EXISTING UTILITIES PRIOR TO COMMENCING WORK (EXAMPLE: BURIED CABLES, FIBER OPTICSM GAS LINES, ETC). PERFORM PRE-CHLORINATED PIPE BURSTING OF EXISTING 6" ASBESTOS CEMENT WATER LINE, REPLACE WITH 8" HDPE DR11 WATER LINE, COMPLETE, INCLUDING EXCAVATIONS, BACKFILL, HYDROSTATIC PRESSURE TESTING, POST-BURSTING CLOSED CIRCUIT TV INSPECTION OF ALL SANITARY SEWER LINES AS DESCRIBED IN ATTACHEMENT A OF SECTION 01000 (TECHNICAL SPECIFICATIONS) AND DELIVER TO CITY, REPLACEMENT OR REPAIR OF MAILBOXES, FENCING, LANDSCAPE AND IRRIGATION SYSTEMS					
6	WITH REVEGETATION (SOD), SAME VARIETY AS REMOVED	LF	255	\$77.00	\$19,635.00	
	FOR DEPTHS GREATER THAN 5', COORDINATE AND PERFORM LOCATION AND MARKING OF ALL BURIED EXISTING UTILITIES PRIOR TO COMMENCING WORK (EXAMPLE: BURIED CABLES, FIBER OPTICSM GAS LINES, ETC). PERFORM PRE-CHLORINATED PIPE BURSTING OF EXISTING 8" ASBESTOS CEMENT WATER LINE, REPLACE WITH 8" HDPE DR11 WATER LINE, COMPLETE, INCLUDING EXCAVATIONS, BACKFILL, HYDROSTATIC PRESSURE TESTING, POST-BURSTING CLOSED CIRCUIT TV INSPECTION OF ALL SANITARY SEWER LINES AS DESCRIBED IN ATTACHEMENT A OF SECTION 01000 (TECHNICAL SPECIFICATIONS) AND DELIVER TO CITY, REPLACEMENT OR REPAIR OF MAILBOXES, FENCING, LANDSCAPE AND IRRIGATION SYSTEMS WITH REVEGETATION (SOD), SAME VARIETY AS REMOVED					
8		LF	-100	\$120.00	-\$12,000.00	
9	FOR DEPTHS OF 5' OR LESS, FURNISH AND INSTALL SHORT SINGLE SERVICE, INCLUDING 1" SERVICE SADDLE (EPOXY COATED WITH DUAL SST BANDS) 1" FORD OR APPROVED EQUAL BRASS CORPORATION STOP, 1" POLYETHYLENE DR9 WATER SERVICE TUBING, 1" X 5/8" FORD OR APPROVED EQUAL, LOCKING ANGLE STOP, AS PER DETAIL DRAWING NO, WT-02	ΕA	4	\$800.00	\$3,200.00	
	FOR DEPTHS OF 5' OR LESS, FURNISH AND INSTALL LONG SINGLE SERVICE, INCLUDING 1" SERVICE SADDLE (EPOXY COATED WITH DUAL SST BANDS) 1" FORD OR APPROVED EQUAL BRASS CORPORATION STOP, 1" POLYETHYLENE DR9 WATER SERVICE TUBING, 1" X 5/8" FORD OR APPROVED EQUAL, LOCKING ANGLE STOP, AS PER DETAIL DRAWING NO, WT-02	5	1	4000.00	\$3,200.00	
10	FER DETAIL DRAWING NO, WI-UZ	EA	8	\$850.00	\$6,800.00	
11	FOR DEPTHS OF 5' OR LESS, FURNISH AND INSTALL SHORT DUAL SERVICE, INCLUDING 1-1/2" SERVICE SADDLE (EPOXY COATED WITH DUAL SST BANDS) 2" FORD OR APPROVED EQUAL BRASS CORPORATION STOP, 1-1/2" POLYETHYLENE DR9 WATER SERVICE TUBING, 1-1/2" X 3/4" MIP FORD OR APPROVED EQUAL U-BRANCH, 2-3/4X5/8" FIT FORD OR APPROVED EQUAL LOCKING ANGLE STOP, AS PER DETAIL DRAWING NO, WT-04	EA	-22	\$850.00 \$850.00	-\$18,700.00	
	FOR DEPTHS OF 5' TO 10', FURNISH AND INSTALL SHORT DUAL SERVICE, INCLUDING 1-1/2" SERVICE SADDLE (EPOXY COATED WITH DUAL SST BANDS) 2" FORD OR APPROVED EQUAL BRASS CORPORATION STOP, 1-1/2" POLYETHYLENE DR9 WATER SERVICE TUBING, 1-1/2" X 3/4" MIP FORD OR APPROVED EQUAL U-BRANCH, 2-3/4X5/8" FIT FORD OR APPROVED EQUAL LOCKING ANGLE STOP, AS PER DETAIL DRAWING NO,	5	22	3030.00	\$10,700.00	
12	WT-04	EA	-2	\$900.00	-\$1,800.00	

ROUND ROCK TEXAS

Contract Quantity Adjustment/Change Order

		-	-	_	-	_
,	RISHND ROCK TEXAS					
	mount man, success					

1/16						
	FOR DEPTHS OF 5' OR LESS, FURNISH AND INSTALL LONG DUAL SERVICE, INCLUDING	Γ .		I	******	
	1-1/2" SERVICE SADDLE (EPOXY COATED WITH DUAL SST BANDS)2" FORD OR					
	APPROVED EQUAL BRASS CORPORATION STOP, 1-1/2" POLYETHYLENE DR9 WATER					
		[
	SERVICE TUBING, 1-1/2" X 3/4" MIP FORD OR APPROVED EQUAL U-BRANCH, 2-3/4X5/8"	1		l i		
	FIT FORD OR APPROVED EQUAL LOCKING ANGLE STOP, AS PER DETAIL DRAWING NO.	i		1		
13	WT-04	EA	-8	\$950.00	-\$7,600.00	
	FOR DEPTHS OF 5' TO 10', FURNISH AND INSTALL IONG DUAL SERVICE, INCLUDING 1-		-0	\$930.00	-\$7,000.00	
	TOR DEPTHS OF 3 TO 10, FURNISH AND INSTALL IONG DUAL SERVICE, INCLUDING 1-					
	1/2" SERVICE SADDLE (EPOXY COATED WITH DUAL SST BANDS) 2" FORD OR					
	APPROVED EQUAL BRASS CORPORATION STOP, 1-1/2" POLYETHYLENE DR9 WATER	1 1				
	SERVICE TUBING, 1-1/2" X 3/4" MIP FORD OR APPROVED EQUAL U-BRANCH, 2-3/4X5/8"	i I				
	FIT FORD OR APPROVED EQUAL LOCKING ANGLE STOP, AS PER DETAIL DRAWING NO,					
14	WT-04	ا ۔. ا	-	1540.00		
17		EA	-2	\$610.00	-\$1,220.00	
	FOR ALL DEPTHS, REMOVE AND REPLACE EXISTING 8" INLINE DUCTILE IRON FITTINGS,	1		ļ	1	
15	INCLUDING MEGALUG RESTRAINTS	TON	-49	\$250.00	-\$12,250.00	
	FOR ALL DEPTHS, REMOVE AND REPLACE FIRE HYDRANT AC PIPE LEAD - REPLACE	· · · ·		, , , , , , ,	1 / /	
	WITH 6" DUCTILE IRON PIPE, CLASS 150, INCLUDING GATE VALVE AND TEE, AS PER				1	
17	DETAIL WT-05	l l	_			
1/		EA	-1	\$4,318.01	-\$4,318.01	
	FURNISH AND INSTALL CLOW OR APPROVED EQUAL FIRE HYDRANT AND ASSEMBLY,					
	AS PER DETAIL DRAWING NO WT-05, AS DIRECTED BY INSPECTOR	1				
18	, , , , , , , , , , , , , , , , , , , ,	EA	-1	\$8,700.00	-\$8,700.00	
	FURNISH AND INSTALL 8" CLOW GATE VALVE, OR APPROVED EQUAL, INCLUDING	-2-	-1	φυ,/υυ.υυ <u> </u>	-30,700.00	
	POOT DISER AND UP AND CONOREST COMES APPROVED EQUAL, INCLUDING					
	BOOT, RISER AND LID, AND CONCRETE COLLAR, AS PER DETAIL DRAWINGS WT-11					
19	AND WT-06	EA	16	\$2,500.00	\$40,000.00	
	FURNISH AND INSTALL 3/4" BRONZE NON-RISING STEM GATE VALVE AND FITTINGS,			7=,555.55	4 .0,000,000	
	BOX AND LID (PROPERTY OWNERS CUT-OFF VALVE ASSEMBLY OUTSIDE METER BOX)					
20	AS DIRECTED BY MARKET OWNERS COT-OFF VALVE ASSEMBLY OUTSIDE METER BOX)	l l		1		
20	AS DIRECTED BY INSPECTOR	EA	-1	\$90.22	-\$90.22	
	INSTALL PLASTIC SINGLE METER BOX, AS DIRECTED BY INSPECTOR, PER DRAWING					
21	WT-02	l ea l	16	\$156.00	\$2,496.00	
	INSTALL PLASTIC DUAL METER BOX, AS DIRECTED BY INSPECTOR, PER DRAWING WT-		10	\$130.00	\$2,750.00	
22	INSTACE PLASTIC DUAL METER BOX, AS DIRECTED BY INSPECTOR, PER DRAWING WI-	∤				
22	02	EA	-43	\$217.97	-\$9,372.71	
	TRENCH AND PLACE 4" SDR35 CASING PIPE FOR LONG WATER SERVICE AS PER					
	DETAIL DRAWING WT-01 (INCLUDING PAVEMENT REPAIR, SEPARATE AND APART FROM	1 1				
23	BID ITEM 40).	LF	174	\$550.00	\$95,700.00	
24						
24	FURNISH AND INSTALL 6" SDR26 PVC SEWER SERVICE PIPING	LF	-64	\$10.00	-\$640.00	
	FURNISH AND INSTALL 6" WASTEWATER CLEAN-OUT ASSMEBLY (NON-PAVED	1				
25	SURFACE) AS PRE DETAIL WW-14	EA	-7	\$173.00	-\$1,211.00	
	PERFORM CONCRETE PEDESTRIAN RAMP REPAIRS, COMPLYING WITH ADA			,		
27	REGULATIONS AND MATCHING EXISTING STYLE	EA	-4	43 194 53	412 720 12	
	DEPENDENCE OF THE PROPERTY OF	LA	-4	\$3,184.53	-\$12,738.12	
	PERFORM CONCRETE DRIVEWAY REPAIR AS PER DETAIL DRAWING NO. S-02. APPROX.					
28	216 SF EACH	EA	21	\$5,000.00	\$105,000.00	
31	6" DIAMETER x 2" AIR RELEASE VALVE	EA	-1	\$1,627.56	-\$1,627.56	
32	8" DIAMETER x 2" AIR RELEASE VALVE	EA	-1	\$1,676.80	-\$1,676.80	
	- Control of the Cont		т	41,070.00	-91,070.00	
	EOD DEDTUG OF ELOD LEGG FURNICH AND INCTANT LONG COURSE CONTRACT				1	
	FOR DEPTHS OF 5' OR LESS, FURNISH AND INSTALL LONG SINGLE SERVICE, INCLUDING 2"					
	SERVICE SADDLE (EPOXY COATED WITH DUAL SST BANDS) 2" FORD OR APPROVED EQUAL			j		
	BRASS CORPORATION STOP, 2" POLYETHYLENE DR9 WATER SERVICE TUBING, 2" X 5/8"					
35	FORD OR APPROVED EQUAL, LOCKING ANGLE STOP, AS PER DETAIL DRAWING NO, WT-02		,	+000 00	+000 00	
J.J.	TONE ON ALTHOUSE EQUAL, LOCKING MIGGESTOP, AS PER DETAIL DRAWING NO, WI-UZ	EA	1	\$900.00	\$900.00	
					\$0.00	
					\$0.00	
					\$0.00	
		 	•		\$0.00	
					\$0.00	
		T			\$0.00	
					\$0.00	
					\$0.00	
_						
					\$0.00	
					\$0.00	
					\$0.00	
		1				
					\$0.00	
					\$0.00 \$0.00	
				TOTALS:		